T%BE51 sBEXR(10A271~11AIBEZRD)

EEHEAR 2019/08/24 ~

T0/27-31.11/5-9
p— . EBITA /T
5§ zx "% %
| AR FEES
KR (BIE8) =348 (FR%) | ABR (BF) % | _NUOOT | 28EAT 59% & 1:16,600, H:15,100 £ £:16,500. H:14100
[NU005 | 288 7% 800
[ NU00S | 288 75% 300, £:10,800. T H:10,500 9,200, %:10,500, £:10.400. H:10,100
(AW 5| _Nuoo2 | 288 78% 300, 9,400, H:9.500 F:8.200, 9,300, 59,100
[NU004 | 288 7%
[ NU008 | 288 55% | %:18.400. H:21900 900, H:20,900
HRCAE)-RE | Bum CHE) R| _NU0TI | 288 64 | F:21,800, £:25900. H:23,600 800, +:23,500. H:21,600
073 | 288 66% | 5:21.400, £:24,500, H:23,400 400, 22,600, H:21400
RER 070 | 288 68% 0,900, £:23,400. H:22,800 800, 22,700, H:20,500
076 | 288 6d% 6,400, H:25.900 t:24,400, H:23,900
f@m% | _NUosT | 288 [ 100, H:11,400 1.100, B:10,500
[ NU053 | 288 62% 11,100, £:12,100. H:12.400 1,600, H:11,500
[NU0s7 | 288 + 512,100 11,100
[NUo6T | 288 £ 012,100 £ 011,100
[ NU063 | 288 2100 £ H:11.100
[ NUO65 | 288 600, £ B:12,100 2:10.700. £H:11.100
4R (APER) 5| _NU0S0 | 288 1 H:12,100 EX=HIR
[NUos2 | 288 £ 612,100 £H:11.100
[ NUos4 | 288 100 100
[ NU0s8 | 288 62% 600
[NU0G0 | 288 64% 100 £ H:11.100
[ NUo62 | 288 64% | T H:12,100 [£8:11.100
HRCHE)-E2d | B CHED®| NU2i | 288 60% | T H:26,800 [B:22.900. £:24,900. H:24,800
Eds | NU022 | 288 63% | H:22.400, £:25.200, H:24,300 [ 5:20.400. :23.200, H:22,300
KB (B -BE | AR [NUos3 | 28H 67% | H:16.900. %:17.800, £:19,400. H:18,400 [B:15.300, £:17.700, H:16.700
5% 086 | 288 70% | B:13,500, +:16,900. H:15,200 2,400, 1:16.400, B:13,500
B (P ER) = T B & B (D) 28H 69% | H:14,300, A:12.700, £:12,900, £:13,800. H:14,800 <%:11,600, 10,900, H:14,700
285 66% 2,900, %:13.900. +:14,000, H:16,000 11,600, %:12.300, £:12.700, H:14,700
285 69% | A%:12,000, £:10,600 2,900, 7K:12.300, 711,600, %:10.900. 9,400
285 69% 2,900, %:19,200, £:10,600 [ %:12.900, 7K:12.300, A:11.600. %:18.700, £:9.400
B 28H 68% 4,300, 7K:14,000, 713,300, %:14,800, E:14,100 [ B:12.900, A:12.100, £:13.400, +:12.800, H:13,000
285 66% 4,700, H:16,000 [ B:13.400
285 68% 4,800, :13,300, %:14,900, £:14,100. H:16,000 [ A::12.100, £:13,500, £:12,600. H:14,700
[ NU04s | 288 70% | 513,800, A:12,300. %:13.900. %:13,100. H:15,000 1,100, £:12,500, %:11,.800, B:13,700
T (IE)-RIE | 7P#8 (I0ER) 5| _NU60T | 2881 69% &+ 08,200 §.6,900, % +:7.300, H:7.200
[ NU605 | 288 69% &+ H:8,300 £ 58200
[ NU607 | 288 75%
[ NU609 | 288 75% X
[ NUsi7 | 288 69% & 58,000 6,900, & 17,200, H:7.100
[ NUe21 | 288 75% X
625 | 288 69% & £:8,000 6,900, & 1 57,100
RER 600 | 288 69% [+ H:8000 56,900, % %:7.200. H:7.100
[ NU608 | 288 69% &+ 58,000 16,900, & 1:7.200. H:7.100
610 | 288 75%
612 | 288 75%
[ NUsi4 | 288 69% & F:8,300
[ NUe22 | 288 69% [&+H:8300
[ NU626 | 288 69% [+ H8100
P (R =EE 4R (APEH) S| _NUSS1 | 288 59% Y 800
[ NUs57 | 288 60%
[ NUs59 | 288 60%
[ NUs63 | 288 60%
[ NUs65 | 288 63%
567 | 288 63%
571 | 288 63%
573 | 288 63%
AR 552 | 288 50%
[ NUs56 | 288 6%
[ NUs58 | 288 [
[ NUS60 | 288 [
[ NUs62 | 288 62
[ NUs64 | 288 60%
[ NUS66 | 288 60%
572 | 288 60%




EEHAB

M4

151 SEER(11A10~20RE%S)

=]

KB (BAE) =948 GBER)

Il
®

£/ITA

%£#85478

W&

S
=

S
S
&

S
S
2

S
S
S

S
S
R

LEEEER]
°|

S
=

£:18,400, H:19.300

RRCPE)=RE

|33333|

< +:16,800, H:15.300

%

0,800, 1:10,600, H:10.900
,500, H:9,800

£ +:16.700, B:14,300

£+ H:10,500

1 H:9.400

1£:16.900, H:19,200

23,500

4,400, H:24,500

S
4

100, H:11,900

S
<

1,100, H:10,500

1,600, H:11,000

S
S

S
S
&

S
S
&

S
3

S
S

2
£

S
4

S
S
&

S
S
R

HRCHE)=EE

S
S

S
S
N

KB (BE@)=R1E

S
8
&

S
S
&
m|

BEE (PED)=

100, H:20,300

100 100
100 .100
100 .100
,100 .100
,100 .100
,100 .100
100 100
600 600
100 100
212,100 100
26,800 ,900
225,200 23,200
il 800, 1:19,400 16 16,400, +:17,700, H:17.400

1£:16.600, H:19,100

®ABE

000, +:13,900, H:14.100

s

e
:14,900, +:14.200, H:15,900

000, F:14,100, H:14.300
000

200

:'14600. £:14,400, 1:14,200

1,700

9,900, H:12,400
1:12,400, 12,700, + H:12,800

8,700

200, H:16,800

o[ [0 | o oo [
(3 [83]3(83|3(83 [
Immmmmmmml

R ORE)-RE

+13,900, F:13,200, H:14,900

S
3
o
5
m|

|

:8,200

000, H:16,400

o
5
m|

|
|

12,100, 7k:12,200, +:12,900, H:13,600

000, B:16400____________________ |
2,100, 7k:12,200, +:12,900, H:14,500
1,100, 7K:11,200, +:11,900, H:13,500

S
3
<
o
5
m|

|
|

S
S
2
o
5
m|

|
|

=
<
o
5
m|

|
|

S
S
o
5
m|

|

£+ H:8000

o
5
m|

|

o
5
m|

|

o
5
m|

|

£+ H:8000

£+ H8:7.200

£+ H:8000

£+ H:8000

£+:7,100, H:7.200

£+ H0:7.200

£+ H0:7.200

S|5[5|5[5]S
HEEEEN
NNEEEE

|

o[ [
(53[5
m|m|m|

N

S
R
N
s
5
m|

S
2
S
s
5
m|
o]
B D

HEE) =R

5
S
s
5
m|

5
S
%
s
5
m|

5
S
&
s
5
m|

S
S
2
s
5
m|

S
S
&
s
5
m|

S
S
4
s
5
m|

s [o!
53 [83]
m|m

S E
S22
R|[=

s
5
m|

5
S
S
s
5
m|

5
S
&
s
5
m|

S
S
S
s
5
m|

I
S
R
s
5
m|

S
S
R
s
5
m|

I
S
S
s
5
m|

N
N
s
5
m|




I£5825| BEXR(11H21~30BE%SH)

EEHEAR 2019/08/24 ~

11/21-30
- s - FRIA ERIE
n3I® %% %
IR (RI7a) =% 8 (F38) | AR (B7) 5¢ |_NU0OT 59% | 7:15,900, 2:16,800. £:16,600. H:15,200 i ] 15,800, 216,700, 16,500, H:14200
005 17%
: 009 74% |#1:10,800, H:11,100 £:10,500, + H:10,700
b (BF®) 3¢ |_NU002 77% | £:9.900. £:9.700. H:10,000 £:8,900. % H:0,600
[NUoo4 7% |
| _NU008 55% |5:18,400, H:19,300 1£:16.900, H:19,200
HRCAE)-RE | Rm GAE) 5| _NU07 64% | k= H:23900. £:25900 23.500
07: 67% ' £:20.500, £:21,500, F H:22,100
RiEHE 07¢ 66% e 500, H:23,900
076 | 64% 400, H:26,100
EEES |_NUO5 64% +11,300, 4:12,300, H:11,400 300, 1:11,300, H:10,500
|_NU053 62% 1,800, F:12,800, H:11,900 800, F:11,800, H:11,000
|_NU057 1,300, F:12,300, H:12,100 300, 1:11,300, H:11,100
[_NUO061 k4 100 g 100
|_NU063 100 100
| _NUO065 ,100 .100
AV 3 | _NU0so | 100 E3:HIALD
[_NU052 1 H:12.100 .100
|_NUO054 300, H:12,100 [$:10,300, F H:11,100
|_NU058 62% 800, F H:12,600 [$:10,800, F H:11,600
|_NU060 64% 300, +:12,300, H:12,100 300, 1:11,200, H:11,100
[_Nuo62 64% 11,300, £ B:12,100 [£:10.300, £ H:11,100
KR (BIE@)=F1E 083 66% ¢7k:18,300, & H:18,200, 1:20,000 7K:16.800, 16,500, 1:18.400, H:17,700
RiEZ 086 67% | H:18.200, 1:18,300, H:20.800 |f 17,700, H:19,600
e AT ICED 69% 3,000, %:15,000,  B:14,100 [ 11,700, 213,100, T H:12.400
66% | F:14,000, £:15,600, £:15100, H:14,300 [ A:12,700, #:14,200, +:13,800, H:12,800
70% 4,400, 1:14,100 [ A:11,700, #:13,400, +:12,800
70% 9,200, 1:14,100 .700, £:18,700, +:12.800
ErCE] 68% |7 H:14500, %:15500, F:14.200 [£:14.200, :12,900, B:13,500
67% [ H:14,700, A £:14,800, H:16,500 £:14,700, 1:14,400, H:16.100
68% | 5:15,300, 15,500, +:14,500, H:15,800 #:14,200, 1:13.900, H:14.400
| _NU048 70% | H:14,300, £:14,500, +:13,500, H:14,800 #:13,200, 1:12.900, H:13400
FROTB)-GE | ARODE %[ NUsoi | 268 6% 50200 ‘
| _NU605 | 28H 68% :8.400, 1:9,100 8,200
| _NU607 | 28H 75%
| _NU609 | 28H 75%
| _NU617 | 28H A | 69% [H:8.100, & +:8,200, H:8,000 & +:7.400, H:7.300
| _NU621 288 75%
625 | 28H 69% [&+:8,100, H:8,000 £+:7,100, H:7.200
RiESH 600 | 28H 69% [£:8,100, 1:8,300, H:8,000 £ H:7.200, £:7.400
| _NU608 | 28H 69% [£:8,200, 1:8,300, H:8.100 £+ H:7.400
610 | 28H 75%
612 | 288 75%
| _NU614 | 28H 69%
| _NU622 | 28H 69%
| NU626 | 28H 69%
FROTB-ES | ARODE %[ _NUssi | 268 59,
[ NUS57 | 28H 60%
| _NU559 | 28H 60%
| _NU563 | 28H 60%
["Nuses | 2880
567 | 28H
571 288 B
573 | 288 :7,300, £:7.400
BER 552 | 2881 59% 7,800
| _NU556 | 28H 61% :7.900, +:8,000
| _NU558 | 28H 64% :7.300, +:7.400
| _NU560 | 28H 64% :7.300, £:7.400
| _NU562 | 28H 62% :7,700, +:7.800
| _NU564 | 28H 60% :8,000, +:8,100
| _NU566 | 28H 60% :8,000, +:8,100
572 | 288 60% :8,000, 1:8,100 £+ H:7.200




T%&5E5 EER(12A1~58FS)

EEHEAR 2019/08/24 ~

2715
p— . FEITA /T
E—H EE 8
| LI BALR
KR (BI78) =548 (F5M) | AR (B7E) % |_NUOO1 61% | :15900, H:15.100 45871 | 15,800, B:14,100
[_NU00S 78% 4587 |
[ NU00Y 76% | 11,100 458 B:11,000
4 (FFW) 5 |_NU002 76% |H:11,100 458 B:11,000
[ NU004 78% 458
[ NU008 58% | H:19,300 458 H:16900
R (FE)=RE RERERCAE) % 07 70% | 458
07: 70% | 5:22,400 458 [B:20100
BER 07 70% | H:22,400 458 [8:20100
076 | 70% | H:25,500 458 H:23,400
@EFE | _NUOS 66% | B:12,300 458 [B:11.300
[ NU053 64% | B:12,800 458 B:11,.800
[ NU0S7 66% | B:12,300 458 5:10.700
[NU061 7 458
[ NU063 458
[ NU06S5 458 [
8 I Eh) % |_NU050 458 [H:10.800
[ NU052 458 [B:10800
[_NUo54 458 £:10800
[_NU058 458 [B:11.800
[_NU060 6% 458 B:11,300
[ NU062 6% 458 [B:11.300
BR(HE)=8d HECRME) S| NU02i 62% 458 [ B:24,500
BERE 022 6% 458 H:22.000
BEE (T ) 0 (I8 [B & B (85 66% 458 K :10,600. B:15,600
66% 458 15,600
70% 458
70% 458 _
AR (E) 69% _B.16, 458 314,200, H:15,600
68% 5,600, H:16,500 458 [B:15.600
69% | 5:15.500. H:16,500 458 [B:14.200, B:15,600
| NUO48 72% | H:14,500, B:15,500 458 [ B:13.200, B:14,600
T -RE | #hHE (IE) 3 |_NUGOT 70% 200, 8:7,800 458 7,300, H:6,600
[_NU605 68% | A H:9.000 458 58,200
[ NU607 76% 458
[ NU609 69% | A H:8,600 458
[ NU617 71% | F H:8,200 458 H B:7,200
[_NU621 76% 458
625 71% | 58,200 458 57,200
BES 600 7% 455 H B:7,000
[_NU608 7i% 455 H B:7,200
610 76% 458
612 76% 458
[ NU614 70% 400 458 7,500
[ NU622 68% 9,000 458 8,200
[ NU626 71% 8200 458 7,200
PR =EE IR (BPER) F| 63% :8,100 458 7,200
[t 63% 8,100 458 7,200
[t 63% | AH:8.100 458 & H:7.200
[t 63% 8,100 458 7,200
[t 6% 500 458 400
66% 500 458 [B:6,400
571 66% 400 458 700
573 6% 400 458 700
AR 552 63% 458 7,200
[ NU556 63% 458 7,200
[ NU558 6% 4588 |6 400
[ NUS60 66% 455 6,100 7i% 6,400
[ NUS62 64% 455 68% 6,900
[ NUS64 63% 458 67% 200
[ NUS66 63% 45ER | 6 67% | H:7,000
572 | 28EA1 | 7800 | 63% 45EAT | 6900 67% | H:7,200




T%BE5 EEXR(12A6~12B1E%SH)

EEHEAR 2019/08/24 ~

12/6-12
p— . EBITA /T
¥ E—H EE e
| AR FEES
KR (BIE8) =348 (FR%) | ABR (BF) % | _NUOOT | 28EAT 61% | :15900, %:16,700, £:16,600. H:15,100 15,800, %:16,600, £:16,500, H:14,100
005 | 288 78%
[ NU00S | 288 76% |%:12,400, £ H:11,100 %:12.000, £ B:11,000
% (BFR) 5[ _NU002 | 288 76% |+ B:11,100 £ H:11,000
[_NUoo4 | 28 78%
| NU0os | 28 58% 8,400, H:19,300 16,900
HRCAE)-RE | Bum CHE) R| _NU0TI | 288 70% _|%:21,500, +:22,400 20100
073 | 288 70% 9,900, I B:20100
"ER 070 | 288 70% 20100
076 | 288 70% 23,400
f@m% | _NUosT | 288 66% 11,300
[ NU053 | 281 6% 11,800
[ _NUO57 | 28 66% 300, H:10,700
[ _NUO61 | 28 7 800
[ _NU063 | 281 800
| NUO65 | 28 +:11,800 800
8 (AVER) 5 |_NU0S0 | 288 #:11,300, & B:11,800 300, £:10,700, H:10,800
[_NUO52 | 281 %:11,300, & B:11,800 300, £:10,700, H:10,800
[ NUO54 | 281 £:11,300,  B:11,800 300, £:10,700, H:10,800
[ _NU058 | 281 12,800 11,800
[_NU060 | 281 66% |+ H:12,300 1,200, B:11,300
[ NUO62 | 28 66% |+ H:12,300 700, B:11,300
HRCHE)-E2d | B CHED®| NU2i | 288 62% 26,400 24,500
BEE 022 | 288 66% :23,900 22,000
BEE (T ) 0 (I8 [B & B (85 28H 67% 5,600,  H:16,400 12,400, %:14,200, F:11,700
288 66% 116,900 15,600
288 70% 4,300, £:16,900 300, £:15,600
288 70% 9,200, £:16,900 700, £:15,600
R (I E) 3 288 69% 15500, 14500, B:16,500 14,200, +:14,400, H:15,600
288 68% | H:15,600, H:16,500 114400, B:15,600
288 69% | H%:15,500, +:14,500, B:16,500 114,200, +:14,400, H:15,600
| NUO48 | 28 72% | A%:14500, F:13,500, H:15,500 113,200, +:13,400, H:14,600
i (BBER)=R1E b8 (ARER) %[ NU601 | 288 69% | X 7KA:8,100 A7,
[_NU605 | 281 68% [+ H:9.000, £:8,300 (7K:7.900
[_NUG07 | 28 76%
[_NUG09 | 281 69% | AL H:8600
[ Nu617 | 288 70% | KIKA:7.900 KIKH:6.900
[_NU621 | 28 76%
625 | 2881 71% |%:8.100, * H:8200 7,100, £ H:7.200
BES 600 | 288 70% | KK 7:7.800, %:8,000 K IKA6.700, %:6,900
[_NUG0s | 281 70% | RIKZ:7.900, £:8,100 Kk IKAK:6.900, £:7.100
610 | 288 76%
612 | 288 76%
[_NUGi14 | 28 69% 7,200, %:7.400
[ NU622 | 281 67% 7,900
| NU626 | 281 70% 6,900, 7,100
SR () =EH hB(BRER) R [_NUS5T | 288 61% A:6,900 _
[ NUS57 | 281 61% 6,900, %:7,000
[ _NUS59 | 281 63%
[_NUS63 | 281 63%
[_NUS65 | 281 66%
567 | 288 66%
571 | 288 66%
573 | 288 66%
a5 552 | 288 61%
[_NUS56 | 281 62%
[_NUS58 | 281 64%
[_NUS60 | 281 6%
[_NUS62 | 281 63%
[ NUS64 | 281 61%
[_NUS66 | 281 63%
572 | 288 63% |4 7,000,  H:7,00




[£825| BEXR(12813~260BEFSH)

EEHEAR 2019/08/24 ~

12/13-26
- P — — AR EEIE
FH F —7.
| mame| TR | gaix kil kil
KR (BTG ) =08 (BB%R) | AR (R97a) 3 |_NUOOT 61% | F:15.900, 7:16,200. 2:16,800, £:16.700. H:15,200 KK:15.700. 216,700, 16,600, H:14200
005 78%
: 009 76% [:12,400, 1 H:11,100 £:12,000, + H:11.000
b (BF®) 3¢ |_NU002 76% |+ H:11,100 £ H:11,000
[ NUoo4 78% -
| _NU008 58% |:18.400, H:19.300 _"7)(17200 1 H:16.900
AR (HE)-RE | ®m(FE) 3 |_NUO0T 70% | X:21,500, 7K A:23.400. % T 22400 X:19,500. ZKA:21.400, % £ 20100
07. 70% | H:20,500, £:21,900. + H:22.400 18,300, £:19,900. + H:20.100
RIER 07 67% 3 £:20,500, K:21,500, 7k:23.400 | X:20,500. 7k:21.400, 5 21,200, 1 H:20,100
07 70% | k7k:23,400, A£:28,300, H:25,500 X 7K:21,400. E 27,300, H:23,400
GRS |_NUO05 28H 66% 12,300 11,300
| _NUO053 | 28H 64% 12,800 11,800
| _NUO057 | 28H 66% 11,600, & H:12,300 600, 1:11,300, H:10,700
[_NUO061 28H 7" £:11,800 800
| _NU063 | 28H £:11,800 800
| NUO065 | 28H 1£:11,800 800
P4 (BPER) 5 [_NU0S0 | 28R #:11,300, & H:11,800 300, £:10.700, B:10,800
| _NU052 | 28H #:11,300, & H:11,800 |$:10,300, £:10,700, H:10,800
| _NU054 | 28H #:11,300, & H:11,800 :10.300, 1:10.700, H:10.800
| _NU058 | 28H 12,800 .800
| _NU060 | 28H 66% 1,500, 1 B:12,300 500, 1:11,200, H:11,300
| NU062 | 28H 66% 12,300 700, H:11,300
RR(AH) -2 | A& (HE)%| NU021 | 288 62% 26,400 + B:24.500
EER 022 | 28H 66% 223,900 - H:22,000
REE (PED) P GRE R & 2 (&) 288 66% 6,800, £:16.900. H:16,400 4,900, £:15.600. H:13,400
28H 64% K:17,800, £:17,900, H:16,900 1:14,700. 115900 £:15.100, +:16,100. H:15,600
28H 68% 7k £:15,600, A:16.800 4,900, £ H:14,600
28H 68% 15,600, A:16,800, £:19.200 4,900, £:18,700, + H:14.600
PR GIRER) 28H 67% 300, K. 00 1:15.200, K:14.700, 7k A:14,200
28H 7,700, 15,800, 5:15500. 1:16,200, H:17,000 | A:15,800, %:14,900. 16,200, A:14,200, £:15.200
28HA] | 1 7.300, X:15.800, 1:15,100 6,200, 4 +:14.900, B:15.100
| _NU048 28H |1 6,300, :X:14,800, 1:14,100 5,200, X +:13,900, H:14,100
FEIE)-RE | #MOPE) %[ _Nucor | 28EE) | ¢ 100, 7K:9,700. #:9,500 200, K:8.800, A:8500, £:7,400
| _NU605 | 28HAI | 9. 0,100, A:9.800, £:8,600, + H:9.300 2K:8,200 7&:9 .300. I 9,000
[ NUG07 | 28R |« 7,100
[ NUG09 | 28R | A:7.100
[ NUG17 | 285 AT | ¢ X:7.200, 7K:8.400, %6100
|62t | 26BA1 |94 [ 6800 | 7% [A7300.4£7100 |
625 | 28HA | ¢ 75.3 100. E:B 000, 7,400, £ H:7.500
RIER 600 | 28HA) | ¢ A & & 2K:7.200 7&:7 .900. I 7,600, £:7.400
| _NU608 | 28HA | ¢ ,100. IE:Q 500, 5:9.300 £:8.300 K:7.200 7&:7 .900. I 7,600, £:7.400
610 | 28HA1 | o
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[ NUG14 | 28EAT | ¢ (:8.100. 7KK9,500_ % 8,300 %7400
| _NU622 | 28HA] | ¢ ,000. IK 9,900, z 600, £:8,600 K 800
| NU626 | 28H |9 ,600. I:Q 300, £:9,500 ;| - 7&%:7 .900. I 7,600
SR () =EH 4R (APER) F&|_NUSS1 | 288 7,800
[ NUS57 | 28H :7.800
| _NU559 | 28H XK:7,800
| NUS63 | 28E A | 8. 7 XK:1.800
| NUS65 | 28E AT |7 KA:1.300
567 | 28EA1 | 7 65% |-+ B:1.600
571 | 28HA1 | 7 65% |+ B:7.600
573 | 28HAT | 1. 65% |+ B:1.600
BER 552 | 2881 17,800
| NUS56 | 28 AT | 8. 7,800
| NUS58 | 28 AT | 7. 300
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28 .000
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RRCAE)=8H 28 33,500
28 26.800
KR (B#)=F18 28 400
% 28 .400
BT (T8 - BB 5 (FE) §_NU04s | 26 100
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28 26.600
R (FRER) 3| _NU 28 5.600
28 7.700
28 5.700
28 4.700
AR EE | FRGBRE 28 900
28 .100
28 .500
28 .500
28 .900
28 .500
28 .900
RiER 28 .900
28 .900
28 .500
NU612 28H .500
NU614 28H .100
NU622 28H 100
NU626 28H .900
FHRT) -85 | #ABW) 5| NUss1 | 288 5,100
NU557 28H 7.800
NU559 28H 7.800
NU563 28H 7.800
NU565 28H 7.100
NU567 28H 7.100
NU571 28H 7.100
NU573 28H 7.100
BEHE NU552 28H 8.100
NU556 28H 7.700
NU558 28H 7.100
NU560 28H 7.100
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NU564 28H 7.800
NU566 28H 7.800
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b IR ER) 56 [ NU 28 6,500
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28 7.500
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1RRE=i0 48 (RE) EEEES 28 ,300
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28 300
ik (RER) R 28 ,800
28 800
28 600
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28 23,000
28 22.700
RR(CRE)=R1E HR(PE)F 28 23.400
28 26,500
RER 28 24,100
28 26,600
1BRE=h 4% (IBE) BER 28 .900
28 900
28 900
28 500
28 600
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ik (RER) R 28 .900
28 900
28 400
28 900
28 100
28 900
RRCAE)=EH 28 26,400
28 23,500
KR (BFE) =R 28 17.400
5 28 25.400
BEE (PED) =ik (R & 2 (PED) 28 ,200
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28 29.100
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285 500
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| _NU002 | 28H 7% 458 7%
| _NU004 | 28H 7% 458 79%
| Nuoo8 | 28H 59% 458 60%
07 28H 67% 458 3%
07. 28H 70% 458 3%
07 28H 67% 458 74%
076 | 28H 66% 458 69%
|_NUO05 28H 66% 458 69%
| _NUO053 | 28H 64% 458 67%
| _NUO057 | 28H 66% 458 69%
[_NUO061 28H 66% 458 69%
| _NU063 | 28H 66% 458 69%
065 | 28H 66% 458 69%
050 [ 28H 66% 458 69%
| _NU052 | 28H ,500 66% 458 69%
054 | 28H 500 66% 458 69%
058 | 28H 64% 458 67%
060 | 28H 66% 458 69%
062 | 28H 66% 458 69%
021 60% 458 63%
022 64% 458 67%
083 66% 458 69%
086 67% 458 69%
69% 458 76%
66% 458 69%
66% 458 69%
66% 458 69%
69% 458 71% [ X:12,900
67% 458 69%
28H 68% 458 69%
U048 | 288 70% 458 7%
60° 28H 69% 458 2%
28H 69% 458 69%
607 | 28H 75% 458 78%
609 | 28H 69% 458 78%
617 | 28H 69% 458 73%
621 28H 75% 458 78%
625 | 28H 69% 458 73%
600 | 28H 69% 458 73%
608 | 28H 69% 458 73%
610 | 28H 75% 458 78%
612 | 28H 75% 458 78%
614 | 28H 69% 458 2%
622 | 28H 69% 458 69%
626 | 28H 69% 458 73%
551 28H 60% 458 65%
557 | 28H 60% 458 65%
559 | 28H 60% 458 65%
563 | 28H 60% 458 65%
565 | 28H 458 69%
567 | 28H 458 69%
571 28H 458 69%
573 | 28H 458 69%
552 | 28H 60% 458 65%
556 | 28H 61% 458 65%
558 | 28H 64% 458 69%
560 | 28H 64% 458 69%
562 | 28H 62% 458 67%
564 | 28H 60% 458 65%
566 | 28H 60% 458 65%
572 | 28H 60% 458 65%
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% (BER) [ _NU002 | 28 HIRT | 77% |+ 59800 458781 | 8600 78% |+ H9700
[_NU004 | 28 BV | T | 45871 | 8100 79%
| NU0os | 28 59% | F:18,600, & H:17,800 45871 | 15500 | 60% |+:15.700, H:16,900
HRCAE)-RE | Bum CHE) R| _NU0TI | 288 69% 22,500 458781 | 19,000 | 71% |+:20.800, H:20,600
073 | 288 70% 1,100, H:22,100 458 18100 | 73% |%:19.100, £ H:20.100
BER 070 | 288 70% 500 458781 | 18,000 | 73% |+:20,000, H:19,800
076 | 288 66% 45881 | 20600 | 69% |+ H:22,600
@EFx | NUO5i | oe|EE) | 66% 458781 | 9600 69% |+ H:10,500
[ NU053 | 28E A | 1 6% 45877 | 10100 | 67% [+ H:11,000
[ NUO57 | 28E A | 1 66% 45871 | 9600 69% | +:10,000
[ NUO61 | 28E A | 1 66% 458781 | 9600 69% | +:10,500
[ NU063 | 28E AT | 1 66% 45871 | 9600 69% | +:10,500
| NUO65 | 28E A | 1 66% 45871 | 9600 69% |+:10500, B:10,100
S48 (FRER) S [ NU050 | 28E1AT [ 10500 | 66% | 45HE | 9,600 69%
[ NUO52 | 28E#I | 10500 | 66% 4581 | 9600 69% |
[ NUO54 | 28E A | 10500 | 66% 45871 | 9600 69% | B:10,500
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[ NUO62 | 28 66% 45871 | 9600 500
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288 66% 5,000, & B:16,000 458 400 14,700
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288 67% | %:19,200, F:16,000 458 100 8,700, F:14.700
R (I E) 3 288 68% 800, +:14,500. B:16,000 458 400 | 69% |H%:13700 14400, B:14,700
67% 15,200, B:16,500 458781 | 13,900 | 68% [+:14.400, H:15,300
288 68% 114,800, 14,500, B:16,000 458 400 | 69% [H%:13,700, +:14400. B:14,700
| NUO4s | 28 70% 113,800, 13,500, B:15,000 458781 | 12400 | 71% [H%:12.700, :13,400, H:13,700
T (IE)-RIE | 7P#8 (I0ER) 5| _NU60T | 2881 69% :8.400, % F:8,200 458 72% 7400, % +:7.200
[_NU605 | 281 69% [&+H:8300 458 69% | & T 08,200
[_NUG07 | 28 75% 458 78%
[_NUG09 | 281 69% |& 1 H8200 458 78%
[ NUG17 | 28E 69% [5:8.100, £ T F:8,200 458 73% | F:7.100. %+ H:7.200
[ NU621 | 28 75% 458 78%
625 | 2881 69% [T H:8000 458 73% |& T B:7,100
BES 600 | 288 69% [+ H:8000 458 73% |&+ 07,100
[_NU60s | 281 69% [&+ H:8000 458 73% |&+ A:7,100
610 | 288 75% 458 78%
612 | 288 75% 458 78%
[_NUG14 | 28 69% |[&t 458 71% | Xk
[ NU622 | 28H 69% |[&+ 458 69% A
[ NU626 | 28H 69% |[&t 458 7% [ I
P (R =EE 4R (APEH) S| _NUSS1 | 288 59% Y 458 63%
[ NUS57 | 281 60% &+ 458 65%
[ NUS59 | 281 60% 458 65%
[ NUS63 | 28F AT | 7.800 | 60% 458 65%
[ NUS65 | 28E AT | 7.100 458 69%
567 | 2881 | 7.100 = 458 69%
571 | 2881 | 7100 = 458 69%
573 | 2881 | 7,100 = 458 69%
a5 552 | 28181 | 8.100 59% | ] 458 63%
[ NUSS56 | 28F AT | 7700 | 6i% |&+ 458 65%
[_NUS58 | 281 7100 | 64% 458 69%
[ NUS60 | 28FAT | 7.100 | 64% 458 69%
[ NUS62 | 28EAT | 7,500 | 62% 458 67%
[ NUS64 | 28FAT | 7800 | 60% |&+ 458 65%
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R (HE)-RE | R (BE) %[ _NU0TI | 288 69% | A:21,800. %:21900. 1 H:22,500 45ER | 19000 | 71% |A:20.300, %:21.400. £:20,800, H:20,600
073 | 288 70% 1,400, %:22,400, T B:22,100 455 18,100 | 73% |:19.400, %:20.400, & B:20,100
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076 | 288 66% 3,900, B:24,600 45ERI | 20600 | 69% |%:21900, + H:22,600
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[ NU04s | 288 70% | B %:13,800. %:13,500, B:15,000 71% | B %:12.700, :13.400, B:13.700
) -GE | jPHE(IPE) 3| _NU60T | 288 69% |+ 58,200 73% |+ H:7.200
[ NU605 | 288 69% &+ H:8,300 69% | &+ H:8,200
[ NU607 | 288 75% 78%
[ NU609 | 288 69% | &1 58,200 2 78%
[ NUsi7 | 288 69% |F:8,100, £ H8,200 45E A1 | 6900 | 73% [H:7.100. £ H:7.200
[ NUe21 | 288 75% 45EAT | 5800 | 78%
625 | 288 69% & £:8,000 45E A | 6900 | 73% [&EET.100
RER 600 | 28 69% |+ F:8,000 45E A | 6900 | 73% [®EH7.100
[ NU608 | 288 69% &+ 58,000 45E A | 6900 | 73% [®EH7.100
610 | 288 75% 45EAT | 5800 | 78%
612 | 288 75% 45EAT | 5800 | 78%
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45 A 63% |+:19,200. H:15,100
458 79%
458 73% [ H:9.200
458 75% | H:8,500
456 9% |
458 60% 15,700, H:17,700
458 68% | 4:23.300, H:21,900
458 68% | H:19.400
458 69% | +:22700. H:22,600
456 64% | 721,900
456 69% [ £:10,500
458 67% |[+:11,000. H:10,600
458 67% [4:10.500, H:9,600
456 66% |59,
456 66% A9,
458 66% | 599,60
458 66% |59,
458 66% |59,
458 66% 9,
458 64% | H:10.
458 66% 9,601
458 66% | 519,600
458 60% | 923,000
458 64% | H:20.500
458 68% 15,700
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